001 - Devon County Fund (LGP

Non-Club Transfer Value Fro

ECON E3900002R

Name : M EDWARDS Last Day of service : 31/10/2021 Relevant Date : 08/11/2023
NI Number : NZ776415D  Final Pay . £18469.68 Age at relevant date: : 49
Date of Birth 18/12/1973 Partnership Status Married
Sex F Date Contracted-Out 01/09/2015
CARE Spouse Percentage 30.630000
Pre 88 GMP at Leaving £0.00 Pre 88 GMP at relevant date £0.00
Post 88 GMP at Leaving £0.00 Post 88 GMP at relevant date £0.00
Equivalent Pension Benefit £0.00
Cumulative P.l. Rate 1.115202
Section 9(2B) Transfer Value £167.99
Total Membership 00/000
Final Salary Pension Component = Pension 0.00 x Conv.Fac. 1.0000 = 0.00
Final Salary Lump Sum Component = Lump Sum 0.00 x Conv.Fac. 1.0000 = 0.00




Final Salary Component
Pension/Over Relevant Age
0.00 «x

Pension/Under Relevant Age
0.00 «x

Lump Sum/Over Relevant Age
0.00 «x
Lump Sum/Under Relevant Age
0.00 «x

Widower’s Pension
0.00 x

APB Pension
0.00 x

APB Partner’s
0.00 «x

Conv.Factor

Less Pensions Increase Liability on GMP

Pre 88 GMP at relev.date:
Post 88 GMP at relev.date:

Market Adjustment Factor
(based on a 1.00 % vyield)

Final Salary Transfer Value

n‘a x
n‘a x
n‘a x
n‘a x
n‘a x
1.0000 X
n‘a x
£0.00 x

100 % x £0.00 x

Pen.Inc. TV Factor
1.115202 x 0.00 = £0.00
1.115202 x 14.91 = £0.00
= £0.00
1.115202 x 1.00 = £0.00
1.115202 x 0.77 = £0.00
= £0.00
1.115202 x 225 = £0.00
na x 1491 = £0.00
na x 225 = £0.00
£0.00
£0.00

TV Factor Conv Factor
0.0000 x 1.0000 = £0.00
0.0000 x 1.0000 = £0.00
£0.00
£0.00

1.0000

£0.00
£0.00




Member’s CARE Pension

MAIN = 77.93
50/50 = 0.00
77.93
CARE Pension Pension 77.93 X
CARE Pension Part-Year
Benefit Components Increase Reval’n

CARE Pension/Over Relevant Age

£0.00 x 1.115203 x 1.017869
CARE Pension/Under Relevant Age
£77.93 x 1.115203 x 1.017869

Widower’s Pension
£23.87 x 1.115203 x 1.017869

CARE Benefits Transfer Value

Total Transfer Value

Widower’s CARE Pension

MAIN
50/50

Conv.Fac.

1.0000

Convers’n
Factor

X n/a

X n/a

X n/a

23.87
0.00
23.87
=77.93
Transfer
Factor
x 0.00 =£0.00
x 13.49 =£1193.34
=£1193.34
X 2.28 =£61.78
= £1255.12
= £1255.12




